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GEOGRAPHY

(Theory)
Full Marks : 70
Pass Marks : 21

Time : Three hours

All the questions are compulsory.
The figures in the right margin indicate full marks for the questions.

Answer Question Nos. 1 to 7 are Multiple Choice Questions.
Choose the correct answer from the alternatives and

rewrite it-along with the corresponding alphabet.

1. Which one of the following sectors do the Package Holidays belong to ? 1

(A) Education (B) Tourism
(C) Transportation (D) Trade

2.  Which of the following countries reflects the influence of cultural factor to
the spatial pattern of population concentration ? 1
(A) USA . (B) China
(C) India (D) Erstwhile USSR
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. . in which of the
3. The movement of the Co-operative farming is most successful

following European countries ? :
(A) Ttaly (B) Denmark
(C) Netherland (D) Sweden

4. Which of the following factors is responsible for the phenomenal growth of
urbanization in India ? !
(A) Rapidindustrialisation  (B) Rapid economic growth
(C) Development of IT sector (D) Rural-Urban migration

5. Which district of the state given below has the lowest growth rate of
population according to 2011 census ? 1
(A) Imphal west (B) Imphal east
(C) Bishnupur (D) Chandel

6. The Loktak Hydro Electric Project was commissioned in the year — 1
(A) 1930 ‘ (B) 1948
(C) 1960 (D) 1984

7. The state of India which the non-farm activities do not affect the population
density is — 1
(A) Delhi | (B) West Bengal
(C) Kerala (D) Bihar
Answer Question Nos. 8 to 16 in a sentence each.

8. Whatis the maxim of Francis Bacon regarding neo-determinism ? 1
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16.

17.

18.

19.

20.

21.
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Give one reason for large scale movement of computer professionals from India
to USA. 1

How do we measure the output of tertiary activity ? 1

State one factor that makes the Great Lakes of USA the most important inland

waterway in the world. 1

Write any one process that involves in the growth of cities in India. 1

How does Manipur become an ideal State for the development of horticulture ?
1

Why is ‘COMECON?” so popular as transcontinental pipeline in Russia ? 1

Give one critical reason on Arithmetic Density of Population is not the true
reflection of Population Density. 1

Suggest one measure supposed to help the development of compact rural
settlement in arid regions. ‘ 1
Draw a diagram to represent double village pattern of rural settleqlent. 1
Answer Question Nos. 18 to 26 in about 30-40 words each.

‘What are the two main objectives of the 20 years plan drawn in 1961 in India ? 2

Explain any two geographical factors led to de-industrialisation in the Ruhr Coal

field of Germany. 2

Mention any two criteria used to recognise the dichotomy of human settlement.
2

Elaborate the two implications of high dependency rate in the population of India.
2
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23

24,

23,

26.

27,

28.

29,

Explain two factors led to the rapid growth of Slum in developing countries.” 2

Explain the two steps to be initiated to stop the exploitation of farmers by money

* lenders in Manipur . 2

‘Human being has shified from the state of necessity to the state of freedom’.
Justify the statement by giving two reasons . 2

Why is it said that Manipur has entered into the stage of transport revolution ? Give
two reasons. 2

‘Inland waterways have lost much of their importance with the advent of roadways

and railways’. Support the statement by citing two values. 2

On the outline map of India provided, mark and label therein the following :
1+1=2

(1) Theeastern part of Golden Quadrilateral

(ii) Konkan railway

Answer Question Nos. 28 to 33 in about 30-40 words eacli.

What are three adverse impacts of globalisation on the economy ofIndia? 3
or

What are the three legislature provisions initiated by the govt. to prevent wz;ter
pollution in India ?

Deduce any three demographic implications from a triangular shéped population
pyramid. 3

Or

Mention any three measures to bring maximum exploitation of resources in those
countries having population deficit.
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31.

32

33.

Explain the three given terms-origin, destination and route in a well developed
transport system. 3

Or
Explain the three important roles played by satellite in the field of communication.

How do urban-rural migrants act as an agent of social change in Manipur ? Give
three values. 3

Or
Explain in brief the three different phases of the evolution of Imphal town.

‘Planning commission of India prepared a plan to solve the problems of agriculture
in rainfed areas during 1980s”. Support the statement by stating three initiatives.
3

Or

Green revolution programmes lead to inter-regional, inter-crop and inter-
personal disparities in rural India”. Justify the statement by listing one point of

each.

“Urban waste disposal poses a serious environmental issues”. Verify the statement

by giving three examples. 3
Or

« Biocides used in agriculture are considered as creeping death”. Justify the

statement by giving three points.
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35.

36.

Answer Question Nos. 34 to 36 in about 120-130 words each.

Give an account of five main features of collective farming with reference to
Kolkhoz practised in erstwhile USSR. 2

Or

Write an account of five characteristics of Dairy farming widely spread in New
Zealand. '

Discuss in brief the agricultural development in India in the post independence
period. 5

Or

Discuss the various changes witnessed in industrial sector of India under the
policy of liberalisation.

“Road transport has enjoyed certain advantages over railways”. Justify the
statement by giving five points. ) 5

Or

“Oceans provide cheaper and easier modes of transportation”. Elucidate.
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